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CHENNAI DISTRICT
ONE MARTK TEST-TIME TABLE 2024-2025

CLASS X

DATE DAY EVENING(4.00 PM TO 5.00 PM)
28.11.2024 THURSDAY TAMIL
29.11.2024 FRIDAY ENGLISH
02.12.2024 MONDAY MATHEMATICS
03.12.2024 TUESDAY SCIENCE
04.12.2024 WEDNESDAY SOCIAL SCIENCE
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CHENNAI DISTRICT
ONE MARTK TEST-TIME TABLE 2024-2025
CLASS Xl

DATE DAY EVENING(4.00 PM TO 5.00 PM)

PHYSICS

28.11.2024 THURSDAY ECONOMICS

COMPUTER SCIENCE
ADVANCED LANGUAGE (TAMIL)

29.11.2024 FRIDAY COMPUTER APPLICATION

BIOLOGY
BOTANY
HISTROY
02.12.2024 MONDAY BUSINESS MATHS & STATISTICS

MATHEMATICS
ZO0OLOGY
COMMERCE

03.12.2024 TUESDAY POLITICAL SCIENCE

CHEMISTRY
ACCOUNTANCY
04.12.2024 WEDNESDAY GEOGRAPHY

05.12.2024 THURSDAY ENGLISH

06.12.2024 FRIDAY
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ONE MARK EXAMiyATION JANUARY - 2033

EN GLISH [Max. Marks : 100
NYms for the underlined words:
With special needs.

Choose the appropriate Syno
1. Technology is a boon to Citizeng

a) Joy b) curse ; .
2. The seagull gnawed the piece of fish c) blessing d) happiness
a) Chewed b) Crush o
3. The young bird was beckoning his Deadrents c) Swallowed d) Divided
a) gesturing b) Callin ' : :
4. Mother bird was preening his featheg: c) Approaching d) Shouting
a) drying b) wetting leari leani
5. His family was quite affluent. I i Eisanng d) cleaning
a) lacking b) wealth ; ;
g y c) poor d) impoverished
6. I've been cranky all day because | didn’t get enough sleep.
a) ghgerful b) strange c) Happy d) Pleasant
7. Assistive Technology has helped atalented mind overcome physical is impairments.”
a) defeat b) fail c) surrender d) lose
8. They can control a computer screen with Eye Gaze.
a) blink ~ b) stare c) flash d) glance
9. World renowned physicist stephen Hawking is the best example of how ———
a) famous b) Special c) affluent d) unique
10. More inclusive way of learning instead of the cloistered existence.
a)unsecluded b) opened c) sheltered d) apparent

Choose the appropriate antonyms for the underlined words.
11. His assessement led the police to swoop.

a) illiterate b) ascend ‘- ¢) descend d) past
12. Your refrigerator can order for milk if it is about to be exhausted.

a) used up b) consumed c) empited d) replenished
13. Itis essential that much of his spare time is spent in the performing arts.

a) important b) inessential c) vital d) crucial
14. India’s disabled are deprived by attitudinal barriers.

a) dead b) Privileged ¢) impoverished d) disadvantaged

15. Learning is a Collaborative process.
a) Separative b) Cooperative ¢) continuous d) unknown

16. Indian innovations are helpful to the disabled.
a) introduction b) alteration c) stagnation d) findings.

17. David is also a keen Sportsman.

a) enthusiastic b) intense c¢) Spirited d) reluctant
. His ideas are in consonance with the political party's views
a) discord b) agreement c) harmony d) unison
. Access, acceptance and inclusion are the challenges me face with '
a) exculsion b) expulsion ¢) accomplished d) experienced
In India 2 7 crore people are living with one or the other kind of disability. '
b) infirmity c) ability d) incapacity

a) inability ) L
Choose the correct expansion of the abbreivation CCTV.

a) Closed Channal Television b) Charged Channal Telgv_ision
¢) Closed Circuit Television d) Checked Circuit Television

The ansion of DSLR is
e common exp b) Digital Single Lens Reflex

a) Digital Simple Lens Reflex 4o \
c)) DtgitZl SndepLens Reflex d) Digital Single Lens Reform
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24.
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26.

27.

28.

29,

30.

31.
32,
33.
34.
35.
© 36.
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38.
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40.

41.

42.
43.

Choose the Correct expansion of CBI.
a) Central Bureau of Investigation
c) Central Bank of India

Choose the correct expansion ©
a) Magnified REsonance Imaging
c) Magnetic Resonace Imaging
Choose the correct expansion O
a) Subscriber INformation Module
c) Student Identification Module
The expansion of IMF is

a) International Monetary Fund

c) Indian Money Fund

Choose the correct expansion of BPT

a) Bachelor of Paratherapy

c) Bachelor of Physiotherapy

Choose the correct expansion of NEET
a) National Entrance Cum Eligibility Test

c) Native Entrance Cum Equalent Test
Choose the correct expansion of TNPSC
a) TamilNadu Police Service Commission

c) TamilNadu People Service Committee
Choose the Correct Expansion of VAT.
a) Value Audit Trade

f MRI

f SIM

b) Control Bureau of Investigation A
d) Central Bureau of Investors.

b) Magnified Reasoning Imagery
d) Magnetic Resonance Imagery

b) School Indentification Module
d) Subscriber Indentification Module

b) Indian Monetary Fund _
d) International Monetary Funding

b) Bachelor of Psychological Treatment
d) Bachelor of Post Treatment

b) National Eligibility Cum Entrance Test
d) Near Entrance Cum Equal Test -

b) TamilNadu Public Service Committee
d) TamilNadu Public Service Commission

b) Value Added Taxc) Value Access Track d) Values and Tubes

Fill in the blanks with appropriate Pronouns.

-------- is an excellent opportunity.

———————— books have been written by a great Indian Writer.

c) the d) No artic

He --—----- is responsible for the downfall of his life.
Fill in the blanks with Article.

He grabbed ----------- first prize.

a) an b) a

We bought some fruits and ------------ rice.

a) an b) no article

c)a d) the

Join the sentences using ‘Relative Pronouns’.

| have a book. It is written by Tagore.

Kavita is my teacher. She teaches us English.

This is Varun. His father is an architect.

Read the following Poetic lines and answer the questions given below.
We were taken from the ore - bed and mine?

Who does ‘we’ refer to?

We were Cast and wrought and hammered to desing

What do you mean by ‘Wrought'?
Some water Coal and Oil is all we ask,

And a thousandth of an inch to give ys play.

What do they ask for?
And now if you will set us to our task.

We will serve you four and twenty hours a day.

Who will set the task.
How long will they serve?

We an pull aqd haul and push ang lift and drive
We can print and Plough ang weave and heét and light.
We can run and race and swin and fly and drive
We can see and hear ang count and read and write.



69. She mi i
ght live anywhere in t}
a) Under the sy ==

C) put on ajrs " b) all over
70. 1 had o d) move heaven and earth
a) burtr? ttr)\um~ t'he midnight oil for my public examination.
¢) Write are - the night b) Sleep in the night
e night d) Work late in the night

A labour not diffrent from our own
71. Who does'their’ refer to? .

72. What does not differ?
73. What does the Poet mean by ‘Lines we read'?
They, too, aware of sun and air and water.
Are fed by peaceful harvests, by war's [o;1g winter starved?
74. Pick out the alliterated words in the first line
75. ldentify the figure of speech used in the second line.
Idenify the Error and correct them.
76. You have to choose among rose milk and orange juice.
77. She is seventy years old but her hairs are not grey.
78. Ram as well as Raja are intelligent.
79. Honour and glory are his reward.
80. If he had ran fast he will have.,
What is the Plural form of the underlined words in the given sentence.
81. Mary took a seat in her chair
82. On a leaf, he noticed a gleaning green beetle.
83. Place the shoe on the appropriate foot.
84. This table has a lot of dust on it.
85. We found the box empty.
Choose the appropriate phrasal verb for the underlined word.

86. Children wear new clothes on festival days.

a) Put off b) Put on c) put for d) put out
87. Try and you will succeed

a) go for b) go away c) go far d) go through
88. The time to submit the project is very short.

a) Knuckle free b) Knuckle up c) Knuckle under d) Knuckle down
89. The bomb wil explode at any time

a) blow out b) blow off c) blow up d) blow on
90. Continue your work sincerely.

a) carry on b) carry of c) carry over d) carry out

Fill in the blanks with appropriate verb.
91. Mathematics ----—------ a branch of study.

92. Neither food nor water --------""" found here.
93. Gulliver's Travels ==--=------- an excellent story.

94. Butter milk ----------- good for health.

95 There -—e-m————-- ten dogs in my street.

Fill in the blanks with the correct alternative. |
(are playing / were playing) when the teacher arrived.

96. The children ----------- {
‘ i ..--—---- healthy [being, be].

tinues - . .

g; We W.'S_h“ ?llr:?slfz:j] the work the manager decided to return home.[have/ having].

> P —— chocolates [eat/ eating].
99. Children love urned it to her [using/having used].

100, --—--—---- the scissors | €




44. Pick out the rhyming words in the above jine g

45. Wiite the thyme scheme of the given stanzg
46. Identify the figure of speech employed in the first line of the given stanza

47. Pick out the alliterating words in the Secong line,
We are nothig more than Children of your brains.

48. ldentify the figure of speech used herg,
Rearrange the words in the correct order g Make meaningful sentence.

49. Who / Assistive Technologist / the / kim/ schog), is/ ay my

50. Our / technology / life / easier / makes

Choose the correct synonyms.
The Prussian Soldiers were driiling.

51.
a) Planling b) Marching ¢) fighting d) Making a hole
52 The teacher's great ruler was rapping on the (apje
a) tapping b) idling ¢) hanging d) rolling
53 M.Hamel sitting motionless in his chair and gazin
a) wailing b) guarding C) staring d) grazing
54. It was the most beautiful language in the World the clearest, the most Logical
a) Vague b) inprobable c) irrational d) reasonable
55. The Oppressors not only wanted the territory,
a) region b) sea c) border d) sky
56. The PM —-—-- today.
a) Calls on the President b) Called at the President
c) Called at the President d) Calls out the President
57. ---——-—-- the rain, the match was abandoned.
a) By dint of b) in the event of c¢) Owing to
58. - hard work, he passed in the examination.

b) by dint of C) in the event of

a) inspite of
bad weather.

59. We stayed at home ---—-—--
a) because of b) in the event of c) according of

We have to give importance to physical education --------- all the academic subjects.
a) due to b) along with c) in addition to

Choose the correct Antonyms.

60.

61. His voice trembled.

a) Shiver b) steady c) convulse d) pulse
62. But soniething choked him.

a) barred b) died c) over powered d) released
63. M-Hamel stood up. very pale

a) stale b) healthy c fresh d) dried
64. He had the Courage to hear every lesson.

a) spirit b) Valore c) bravery d) Cowardice
65 On the roof the Pigeons Cooed very low

a) weep b) Lawl c) fuss d) object

Replace the underlined word with the/ idiom to convey the same meaning.
66. It is raining heavily now

a) Under the sun

c) raining cats and dogs
67. He makes a new beqinning i his life ,

a) fool's errand b) Under the sun  ¢) turns over a new leaf d) nip in the bud
68. She exaggerates the problem We can do nothing.

a) to bear with b) bereft of
c) one's disposal d) makes a mountain out of a molehill

b) In deep waters
d) in barren statements
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MATHEMATICS [Max. Marks : 100
x
A= {a' b' p}'B = {2'3}' C= {p- q,r, S} thErl n [A C) x B} is
'(?A:8“2}8={1234}(C=%g6}ando_ (AU 20) 1]2' ot f(D) 1.5
statement is true. : = {5,6,7,8} then state which of the following
(A) (AxC)c (B xD) (B) BxD A x Ax B A xD) (D) (D x A B x
If n(A x B) = 6 and A = {1,3} then n([)a)cis( ©  ©ABc@D) D)PxAHcEA
i the ¥). & (©) 3 () 6
If there are 1024 relations from a set A={1,2,3,4,5} to a set B, then the number of elements in Bis
(A) 3 (B) 2 C) 4 ©) 8

The range of the relation R = {(x, x?) | x is @ prime number less than 13} is
(A) {2,3,5,7} (B) {2,3,5,7,11} (C) {4,9,25,49,121} (D) {1.4,9,25,49,121}

If the ordered pairs (a + 2,4) and (5.2 a + b) are equal then (a, b) is
(A) (2,-2) (B) (5,1) (©) (2,3) D) (3, -2)
Let n(A) = m and n(b) = n then the total number of non-empty relations that can be defined from A to B is
(A) mn (B) nm (C) 2™ -1 (D) 2m
If {(a, 8), (6. b)} represents an identity function, then the value of a and b are respectively
(A) (8,6) (B) 8,8) (C) (6.8) (D) (6.6)
Let A = {1,234} and B = (4,8,9,10}. A function £ : A — B given by f ={(1,4), (2.8), (3,9), (4,10)} is a
(A) Many-one function1 (B) Identity function (C) One-to-one function (D) Into function
If f(x) = 2x? and g(x) = /3x', then fs g is
(A) 312x2 (B) 213x2 (C) 2/9x? (D) VBx2
If f: A — B is a bijective function and if n(B) = 7, then n(A) is equal to
(A) 7 (8) 49 () 1 (D) 14
Let f and g be two functions given by f = {(0,1), (2,0), (3, -4), (4.2), (5,7)} g = {(0.2), (1,0), (2,4), (4.2).
(7,0)} then the range of fog is
(A) {0,2,3,4,5) (B) {-4,1,0,2,7} () {1,2,3,4,5) (D) {0.1,2}
If g = {(1,1), (2,3), (3,5), (4,7)} is a function given by g(x) = ax + f then the values of « and B are
(A) 1,2) B) @.-1) © -1,-2) D) (1.2)
f(x) = (x+1)* - (x-1)*represents a function which is
(A) linear (B) cubic (C) reciprocal (D) quadratic
Euclid's division lemma states that for positive integers a and b, there exist unique integers gandr
such that a=bq+r, where r must satisfy.
(A) 1<r<b (B) 0<r<b (C)0<r<b O)o0<r<b
Using Euclid's division lemma, if the cube of any positive integer is divided by 9 then the possible
remainders are
(A) 0,1,8 (B) 1,4,8 (C) 0,1,3 (D) 1,3,5
If the HCF of 65 and 117 is expressible in the form of 65m - 117, then the value of m is
(A) 4 (B) 2 )1 (D) 3
The sum of the exponents of the prime factors in the prime factorization of 1729 is
(A) 1 (B) 2 () 3 (D) 4
The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
(A) 2025 (B) 5220 (C) 5025 (D) 2520
7% = (mod100) (A) 1 (B) 2 (C) 3 (D) 4
(A) 3 B) 5 (C)8 (D) 1"

GivenF =1,F,=3andF =F  +F  then Fgis _ . .
The first term of an arithmetic progression is unity and the common difference is 4 . Which of the

following will be a term of this A.P. (A) 4551 (B) 10091 (C) 7881 (D) 13531
If 6 times of 6" term of an A.P. is equal to 7 times the 7' term, then the 13' term of the AP. is

(A) 0 (B) 6 _ 7 D) 13 ‘

An A.P. consists of 31 terms, If its 16th term is m, then the sum of all the terms of this A P. is

(A) 16 m (B) 62 m €) 31 m ©) 31y m

In an A.P,, the first term is 1 and the common difference is 4 . How many terms of the A.P, must be taken
for their sum to be equal to 120?  (A) 6 - B 7 (C) 8 D) 9

IfA=2%and B=2%+2%+2%+ ... + 2° which of the following is true? _ -
is 264 than A(B) A and B are equal (C) B is larger than A by 1 (D) Ais larger than B by
(A) B is 2% more than A(B) #1589 - (1424 3+ . +15)

The value of (1*+2° + 3*+ .

(A) 14400 : (B) 14200 (C) 14280 (D) 14520

y2 + 1‘/),; is not equal to \ .\ 1 )x )
(A) y'*1 (B) (y+1ly) (C)(Y' /y) + 2 (D){y+ ly -2

y?
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X 8 x%-Tx+40 B X24+7x+4 x2+10
—= N - - — X+ 0 2.7x+40 gt o L
X125 “x2+Gx+5 9VES(A)  (, 5)(x+5) : (X-5)(x1m) (C) (Tc)i—-i's)’&:ﬂ ©) (x%-25)(x+1) i
256x°y4z'°
The square root of 42-5-*53}!24 is eqL:al to \
16 | x2z4 Y- e
A) 5 g B 16} x?z* ’ (C) 135 %[ (D) 155 [’%
Which of the following should be added to make y2 . 64 a perfect square
(A) 4x2 (B) 16x? (C) 8xz (D) -8x2
The solution of (2x-1)2 = 9 is equal to
(A) -1 (B) 2 . (€) -1,2 D) None of these
The values of a and b if 4x*-24x>+76x2+ax+b is a Derfec)t sq'uare are -
(A) 100,120 (B) 10,12 (C) -120,100 (D) 12,10

If the roots of the equation qix*+pxx+r*=0 @re the squares of the roots of the equation gx*+px+r=0,then
q,p, rarein

(A) A.P . (B) G.P (C) Both AP and GP (D) none of these
Graph of a linear equation is a
(A) straight line (B) circle (C) parabola D) hyperbola
The number of points of intersection of the quadratic polynomial x2+4x+4 with( tr)ne ’Q’axis is
(A) 0 B) 1 (C)0or1 (D) 2
1 3 5 7
For the given matrix A = 2 .4 +6-:-8 the order of the matrix AT is -
9 11 13 15
(A) 2x3 (B) 3x2 _ (C) 3x4 (D) 4x3
If Alis a 2x3 matrix and B is a 3x4 matrix, how many columns does AB have
(A) 3 (B) 4 _ €) 2 D) 5
If number of columns and rows are not equal in a matrix then it is said to be a
(A) diagonal matrix ~ (B) rectangular matrix  (C) square matrix (D) identity matrix
Transpose of a column matrix is
(A) unit matrix (B) diagonal matrix (C) column matrix (D) row matrix
. . 1 3\_ (5 7
Fmdthematnxan2x+(5 7)— (9 5)
2 -2 2 2 1 2 2 1
w (2 3) ® (3 3) ©(3 2) o3 ;)
’ 1 2 1 2 3
Which of the following can be calculated from the given matrices A= | 3 4 |B=| 4 5 6
5 6 7 8 9
(i) Az (i) B? (i) AB (iv) BA
(A) (i) and (ii) only (B) (ii) and (iii) onl (C) (ii) and (iv) only (D) all of these
: y
1
If A =(1 2 3) ,B=(2 -1|andC =( o ) Which of the following statements are correct?
3 21 0 2 - 5
5 5 oy 2 5). 8 20
AB+C = ( ) i) BC= 2 -3 iii) BA+C = ( ) iv) (AB)C = ( )
5 5 4 10 3 0 -8 13
(A) (i) and (ii) only "(B) (éi) and (iii) only (C) (iiiy and (iv) only (D) all of these
If in triangles ABC and EDFAB/pe= Clep then they will be similar, when
(A) 4B = ZE (B) £A = «D (C) 4B = £D ' (D) £A = £F
In ALMN, £L = 60°, £ZM = 50° If ALMN ~ APQR then the value of ZR is
(A) 40° (B) 70° (C) 30° - (D) 10°
If AABC is an isosceles triangle with ZC = 90° and AC = 5 cm, then AB is
(A) 2.5 cm (B) 5cm (C) 10 cm (D) 5V2 cm o
In a given figure ST||QR, PS=2 ¢cm and SQ = 3 cm. s
Then the ratio of the area of APQR to the area of APST is .
(A) 25. 4 (B) 257 (C) 25: 11 (D) 25:13 * T

The perimeters of two similar tiiangles AABC and APQR are 36 cm agd 24 cm respe1ctively If PQ =10 cm,
then the length of AB is  (A) 6%/4cm (B) 10 6/3 cm  (C) 66¢/3 cm (th] f)f;rg .
If in AABC, DE|IBC, AB =36 cmAC = 2.4 c¢cm and AD = 2.1 cm then the Ien(gD) ?05 N

(A) 1.4 cm (B) 1.8 cm (C) 1.2 cm ) .
In a ABC, AD is the bisector of Z/BAC. If AB = 8 cm,BD = 6 cm and DC =3 cm Tge '5'3‘{‘ of the side AC is
(A) 6 cm (B) 4 cm (C) 3 cm 0) :
In the adjacent figure ZBAC = 30° and ADLBC then R £
(C) BO  CD = AD? (D) AB AC = AD . r X
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Two poles of heights 6 m
is 12 m, what is el

. M stan ;

(A) 13m the d'StE(‘g‘;e 1between tge\f?c',ca”?v on a plane ground. If the distance between their feet
In the gi <on 14m Pa
A gogiven figure, PR = 25 CM,QR = 54 . C) 15m (D) 12.8 m
If (5.7), (3 (B) 8se M. £PAQ = 90°,PA = 6 cm and QA = 8 em. Find ZPQR
) s P) and (6,6) ar(e Collinear, ther, the va (C) 75° (D) 90° »

i , B) s alue of p is q
{:)e ?5011;1; of intersection of 3x - Y =4ang (Cp) 9 D) 12 A

: (B) (2,4 ty=3gis g ’
The slope of the line joining (15" D) (4,4

g (12,3 i (©) 3.5 (D) (4,4)
_(rAh)e ;lope fth I X 4 )- (4, a) 1S 1/8 The \zgl)uesof- a'is (D) 5
of the line which ig i -

l(;\;lo-; e ine g F JPerpendicular to 4 jjne gg.)m?% the points (0,0) a(rt\:)d) 82y s

€ of the line is 1/ B
(A) V3 B‘/3 then slope of the perpendicular bisector of PQ is
If Ais a point on the Y axi(s) r;‘h i © 1"13 P
the equation of the fine Py \‘f\; 0se ordinate js g and B is a point on the X axis whose abscissae is 5 then
(A) 8x + 5y = 40 (B) 8x -5y =

. =4 = =

The equation of a line passing fhrogg 0 .. (C)x=8 DO)y=5

h the origin and perpendicular to the line 7x - 3y + 4 = 0 is

(A) 7x-3y+4=0 3X-Ty+4 = = =
Consider four straight lines 0 gi():)l ?§;=7§x_+05 8'))) 17'x4; 3=y3_x(3 1
(i) I 4y + 3x = 7 (V) 13 4x + 3y = 2 Which of tha following statement is frue ?

(A) 1, and [, are perpendgcular (B) 1, and /, are parallel

(C) 1, and /, are perpendicular (D) 4, and /, are parallel

A straight line has equation 8y = 4x + 21, Which of the following is true

(A) The slope is 0.5 and the y intercept is 2.6 (B) The slope is 5 and the y intercept is 1.6
(C) The slgpe is 0.5 and the y intercept is 1.6 (D) The slope is 5 and the y intercept is 2.6
When proving that a quadrilateral is a trapezium, it is necessary to show

(A) Two sides are parallel. (B) Two parallel and two non-parallel sides.
(C) Opposite sides are parallel. (D) All sides are of equal length.

When proving that a quadrilateral is a parallelogram by using slopes you must find

(A) The slopes of two sides (B) The slopes of two pair of opposite sides
(C) The lengths of all sides (D) Both the lengths and slopes of two sides
(2,1) is the point of intersection of two lines.

(A) x-y-3=0;3x-y-7=0 B) x+y=3,3x+y=7

C) 3x+y=3; x+y=7 (D) x+3y-3=0;x-y-7=0

If sin 8 + cos 8 = a and sec 6 + cosec 0 = b, then the value of b(a? - 1) is equal to

(A) 2a (8) 3a ©) o (D) 2ab

If 5x = sec © and 5/y= tan 6, then x2 - 1/yz is equal to

(A) 25 (B) 1725 (C) & D) 1

If sin 8 = cos 0, then 2tan?0 + sin?0 - 1 is equal to ) )

(A) 3o ®) 3 (C) “I3 (D) “4/3

If x=atan Q and y = b sec 0 then

(2) Y2 X2 o (B) XUz2-Vip2=1 €) Xgz+ Yipa=1 (D) ¥q2- Y2 =0
(1 + tan 8 + sec 0)(1 + cot 0 - cosec 0) is equal to

(A) 0 (B) 1 _©2 . (D) -1

acoto +bcosec0=pandb cotd +acosec 6 =qthen 2p2§| is equal to

(A) ab? (B) b*a? _(C) at+b? (D) b-a _
If the ratio of the height of a tower and the length OfoltS shadow is \1'3: 1, then the anglae of elevation of the
sun has measure (A) 45° (&) 29 (C) 90 (B) 60

° i i 3 d point 'b'
i ds an angle of 30° at a point on the same level as its foot. At a secon :
:’nr;?rslse:g:)cvsotLeeSﬁurgfte?he depression of the foot of the pole is 60°. The height of the pole (in metres) is

b c) by D) b
b B) PR3 ( 2 O) "3 :
2‘];;3", et? is 60 m he(i}g\;)h nsfhadow(reduces by x metres when the angle of elevation of the sun increases

° o is equal to
I:Jm4310950n?5 then x i (Bq) 43.92 m (C) 43 m (D) 456 m o
) 41. top and bottom of 20 m tall building from the top of a multistoried building

T:'ee ;8?':;2{ ‘éﬁgrfessg’e"cﬁf,é?; The height of the multistoried building and the distance between two
a
buildings (in metres) is : C) 20 10 D) 30 10v3

0,5v3 (C) 20, (D) 30,
(A) 20,1073 . (BX) n?etres apart from each other and the height of the first person is double that
i bR, ’r’:ﬁddle point of the line joining their feet an observer finds the angular elevations of
3: the othetr. lgfrocrg,:ﬁementary. then the height of the sh)?rter person (in metres) is
A (B) */2v2 © 72 {2yt
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If the radius of the base of a cone is trlpled and the hei .

(A) made 6 times (8) made h'B times e')g'::]ls doublgd then the volume is

The total surface area of a hemi-SPNere is hoy, Much timesa?hee 152 times it (Dc)J unchanged
quare of its radius.

of the cone is
B) x cm
() (C) 4x cm (D) 2x cm

(A) 3x cm : )
A frustum of a right circular cone is of height 15 ¢,

volume of the frustum is o8 3
(A) 3328mncm? (B) 3228mcm C
A shuttle cock used for playing badminton has the srfa;))eag;i?h??c:mbination (on) saomen
(A) a cylinder and a sphere (B) a hemisphere and a cone
/(l\cipiesr?c};irgaalllngfE:'acc;)igz r, units is melted to mg o fru;tum of a eane anda USmISpene
i Is 4 € 8 new identical balls each of radius r, units. Then
(A) 2: 1 (B) 1:2 C) 4: 1
. D) 1: 4

The volume (in cm?) of the greatest sphere that ¢an be cut off ¥
radigs 7 ciriiand helght 5 oo ﬁ) off from a cylindrical log of wood of base
(A) 43 @) 103 n €) 5% (D) 20

¢ . ; /a
The height and radius of the cone of which the frustum is a part ar h, uni 1> i [
Height of the frustum is h, units and radius of the Smaller basg isr Snit's.ulrfnhszahndga :ugli?\erssrp'érzcnizew'
(A) 1:3 ®) 12 ©) 2: 1 ? D) 3: 1 S
The ratio of the volumes of a cylinder, a cone ang sphere, if each has the same diameter and same
height is
(A).1:2:3 (B) 2:1:3 ‘ (C) 1:3: 2 (D) 3:1:2
Which of the following is not a measure of.d|§persion?
(A) Range (B) Standard deviation (C) Arithmetic mean (D) Variance
The range of the data 8,8,8,8,8 ... .8 is
(A) 0 (B) 1 €) 8 D) 3

The sum of all deviations of the data from its mean is

(A) Always positive (B) always negatlve (C) zero (D) non-zero integer

The mean of 100 observations is 40 and their standard deviation is 3 . The sum of squares of all observations is
(D) 30000

(A) 40000 (B) 160900 (C) 160000
Variance of first 20 natural numbers is )
(A) 32.25 (B) 44.25 (C) 33.25 (D) 30
The standard deviation of a data is 3 . If each value is multiplied by 5 then the new variance is
(A) 3 (B) 15 (C) 5 (D) 225
If the standard deviation of x, y, z is p then the standard deviation of 3x + 53y+5,3z+5is
(A) 3p+5 (B) 3p C)p+5 (D) 9p + 15
If the mean and coefficient of variation of a data are 4 and 87.5% then the standard deviation is
(A) 3.5 B) 3 (C) 4.5 (D) 2.5
Which of the following is incorrect? _
(A) P(A)>1 (B) 0=P(A) =<1 (C) P(¢)=0 (D) P(A) + P(A) = 1
The probability a red marble selected at random from a jar containing p red, q blue and r green marbles is
(A) ®) 2= ©) phes (s

p+q+r p+q+r +q+r p+q+r
A page is selected at random from a book. The probability that the digit at units place of the page number
chosen is less than 7 is 7

®) 1o (©) 39 (D) /g

(A) 310 . .
The probability of getting a job for a person is X/5. If the probability of not getting the job is 2/3 then the
(D) 1.5

value of x is
(A) 2 (B) 1 (C) 3
Kamalam went to play a lucky draw contest. 135 tickets of the lucky draw were sold. If the probability of
Kamalam winning is 1/9, then the number of tickets bought by Kamalam is
(A) 5 (B) 10 (C) 15 020 X
If a letter 1s chosen at random from the English alphabets {a, b, ... , z}, then the probability that the letter
chosen precedes x?
4 (C) 21og _ (D) 36

f 3200. One note is drawn at

(A) 14143 (B) /43
A purse contains 10 notes of <2000,15 notes of 500, and 25 notes 0 2
random. What is the probability that the note is either a <500 note or 1200 noée 1,
(A) Vs (B) 19 () 23 ©) s
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1. Newton's Ill law is applicable ME—E
a) for a body is at rest dy in motion
c) both (a) and (b) g; (fnor:lya fg(r) b%)dies with equal masses
2. Impulse is equal to
a) Rate of change of momentum b) Rate of force and time
c) Change of momentum d) Rate of change of mass
3. One kilogram force equal to
a) 9.8 dyne b) 9.8x10*N c) 98 x 10*dyne d) 980 dyne
4. To Project the rockets which of the following principle (S) is (are) required?
a) Newton's Third Law of Motion b) Newton's law of Gravitation
c) Law of Conservation of Linear momentumd) Bothaandc
5. Magnification of a convex lens is
a) Positive b) Negative
c) either positive or negative d) Zero
6. Power of a lens is -4D, then its Focal Length is
a) 4m b) -40m c) -0.25m d) -2.5m
7. In a myapic eye, the image of the object is formed
a) behind the retina b) On the retina
c) in front of the retina d) On the blind spot
8. The eye defect ‘Presbyopia’ can be corrected by
a) Convex lens b) Concave lens c) Convex mirror d) Bifocal lenses
9. In the Given diagram the possible direction of Heat energy transformation is A
a) A<B,A«C,B«C b) A—>B,A-C,B->C 303K
) A-BA«C,BoC d) A«BA-C,B«C 304K B |305K C
10. If a substance is heated or, cooled the change, in mass of that substance is
a) Positive b) Negative c) Zero d) None of the above
11. Which of the following is correct?
a) Rate of change of charge is electrical power b) Rate of change of charge is current
C) Rate of change of energy is current d) Rate of change of current is charge
12. Kilowatt hour is the unit of
a) Resistivity b) Conductivity c) Electrical energy d) Electrical Power
13. Sl unit of Resistance is
a) mho b) Joule c) Ohm d) Ohmmeter
14. The Frequency which is audible to Human ear i§ ——————
a) S50HKZ b) 20KHZ c) 15000 KHZ d) 10000 KHZ

15. When a sound wave travels through air, the air particles.
a) Vibrate along the direction of the wave motion.
b) Vibrate but not in any fixed direction.

c) Vibrate perpendicular to the direction of the wave motion d) do not vibrate
16. Sound waves travel in air with a speed of about ~-————--- at NTP.
a) 340x10*m/s b) 340 m/s c) 3x10®m/s d) 3x10*m/s

17. The velocity of sound in air at a particular temperature is 330 ms™ what will be its value when

temperature is doubled and pressure is halved?
a) 330 ms b0 165 ms* c) 330xV2ms' d) 320/V2 ms?

18. Unit of Radio activity is —————

a) Roentgen b) Curie c) Becquerel d) All the above
19— isotope is used for the treatment of Cancer,

a) Radio lodine b) Radio Cobalt ¢) Radio Carbon d) Radio Nickel
20. Gamma radiations are dangerous because ——----——.-

a) It affects eyes of bones b) It affects tissues

c) It produces genetic disorder d) It produces enormous amount of heat

21. Artificial radioactivity was discovered by ———-—

a) Bequerel b) Irene Curie c) Roentgen d) Neils Bohr
22. Which of the following is a triatomic molecule? |
a) Glucose b) Helium c) Carbon - dioxide d) Hydrogen
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The volume occupied by 4.4g of CO, at S.TP
C) 0.24 litre d) 0.1 litre

a) 224 litre b) 2.24 litre
V\ilhicfcl of the following represents 1 amu b)
a assofa C - 12 atom Mass of a Hyd
c) 1/‘Fth of the mass of a C - 12 atom d) Mass of O -%Grg?grz .
g)a TAO ecuk? is made of similar kindt of atoms, E‘a‘h)enli-ti is called -~———— molecule

ono atomic b) Hetero atomic d o i i
The gram molecular mas)s of oxygen molecule is moalomic d)  Polyatomic
az‘ 16g b) 18g . C)  32g d) 17
The number of periods and groups in the Periodic tabje are? g
a) 6,16 b) 7, 17 c) 81 d) 7,18

- groups contains the member of Halogen family. '

a) 17 b) 15 c) 18w d) 16t
Cherglcgl Fﬁrgula of rust is? ) F
a eOx b) FeO,xH,0 c e,0, x
;’) e |;:))rqc?_ss of coating éfue _?ﬁrfa‘ce of metal with)a tl(lainzllaayerH 6?Zinc isdgallezgo

ainting innin c alvanizati : i

is an important metal to fo%m amalgam. zation  d) Electroplating
a) Ag b) Hg _©) Mg d) Al
T)he gumber of components in a binary solution )Is -;-....__.__
a C
Which of the following is the Universal Solvent? G o
a) Acetone b) Benzene c) Water d) Alcohol
Identify the Non aqueous solution?
a)) godlum SChllcrgidte in water g} (S3|llicose in water
c >opper Sulphate in water ulphur in Carbon - di - Sulphide
Solubility of NaCl in 100 ml water is 36g. If 25g of salt is dissolved i
rr;ore1 galt is required fog Sa1tl11ration. g ) 16 ¢ In'100mliof waterFlowmeich
a g c
Which of the following is)Hygrgscopic in Nature? 9 9 209
a) Fg_rnc Chloride b) Copper Sulphate Penta - Hydrate
c) Silica Gel d) None of the above
i ¥ Clyyy =——> 2HCI( \is a
af D_ecd?ﬁpos:tlon Reattion b) Combination Reaction
c) Single Displacement Reaction d) Double Displacement Reaction
Photolysis is a decomposition reaction caused by ———--—--—--?7
a) Heat _ b) Electricity c) Light d) Mechanical energy
The Chemical equation Na,SO, (aq) + BaCl,(aq) — BaSO,(S) | + 2 NaCl(aq) represents which of
the following types of reaction
b) Combustion c¢) Precipitation d) Single displacement

a) Neutralisation
The PHof a solution is 3. Its ﬁH‘) concentration is
1x10"" M d 11M

a) 1x10°M b) 3 c)
Powdered CaCO, reacts more rapidly than flaky CaCO, because of
b Hig?'\ Pressure

a) Large surface area
d) High Temperature
ds 5 3 -Methylbutan -1 OL. What type compound it is?

c) High Concentration
The UPAC name ofan O mgani Com poun
a) Aldehyde b) Carboxylic acid c) Ketone d) Alcohol
Which of the following pairs can be the successive members of a Homologous Series?
a) C,H,andCH,, b) C,H,andC H

H, d) CiHIOHandC H,OH

c) CH,andC, .
OH'+ 30, '———> 2C0, + 3H,0 is a?
b) Combustion of Ethanol

CH
af *Reduction of Ethanol '
c) Oxidation of Ethanoic acid d) Oxidation of Ethanol
Rectified Spirit is an aqueous solution which contains about ---—-—--- - of Ethargol.
a) 95.5% l:) 75.5% cs) 55.5% d) 45.5%
TFM in soaps represents --——--—--- content in Soap.
a) Minera = b) Vitamin c) Fatty acid d) Carbohydrate
The Endarch condition is the characteristic feature of -—---——-—
a) Root e Sten;) c) Leaves d) Flower
Which is formed during anaerobic respiration?
a) Carbohydrate  b) Ethyl Alchohol ~ ¢) Acetyl coA d) Pyruvate
Kreb's Cycle takes place in . ' _
a) Chloroplast b) Mitochondrial Matrix
c) Stomata d)  Inner Mitochondrial mem
The Segments of Leech are known as .
a) Metameres (Somites) b) Proglottids

d) All the above

c) Strobila
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Mouth b ‘
52.% e body of Leech has ) Buccal Cavity ) Pharynx d) Crop
?) 23 segments b) 33 Segmems
53. Mammals are ——____ animalg, C) 38 Segments d) 30 segments
a) Cold blooded b) Warm bloodeqy
54. During Transpiration there is |ogs of €) Poikilothermic  d) All the above
a) Carbon dioxide b)
c) Water Oxygen
55. T)he Wall of the Human Heart is mage of d) None of the above
a) Endocardium b)  Epicardium
56. A patient with blood group O was injyreq in an S Myocardium d) All of the above
should be used by Doctor for Transfusions an accident and has blood loss. Which group of blood
O Grou b
57 ‘al-ieart of Hegrt' is called)—-é.B.EEUp © AorBGroup  d) Allblood group
a) SAnode b) AV node i - i
58. Which one of the following shows correct com N iti Purkf";,j|e Z‘bres d)  Bundie of His
a) Plasma - Blood + Lymphocyte e ol O3 DICOE, .
c) Lymph-Plasma + RBC 4 WBC b) Serum - Blood + Fibrinogen
59. Bipolar Neurons are found in d) Blood - Plasma + RBC + WBC + Platelets
g)) Eﬁ:g’;oc’f 2 b) Cerebral Cortex
60. The outermost layer of the three Cranical Meniﬁ)geiiplratory SpihSliym
a) Arachnoid membrane bS)J Piamater
¢) Duramater _ : d) Myelin Sheath
61. There are — pairs of Cranical nerves and pairs of Spinal Nerves.
a) 12,31 b) 31,12 c) 12, 13 d) 12, 21
62. Vomiting Centre is located in ' '
a) Medulla Oblongata b) Stomach
c) Cerebrum _ _ d) Hypothalamus
63. A person who met with an accident lost contro| of body temperature, water balance and hunger
Which of the following part of Brain IS Supposed to be damaged?
a) Medulla Oblongata b) Cerebrum
c) Pons d) Hypothalamus
64. Which one of the following hormones is naturally) no)ﬁound in Plants.,
a) 2,4-D b) GA3 c) Gibberellin d) 1AA
65. Avena Coleoptile test was conducted by
a) Darwin b) N.Smit c) Paal d) F.W Went
66. Identify the Exocrine Gland
a) Pituitary Gland b) Adrenal Gland
c) Salivary Gland d) Thyroid Gland
67. Which organ acts as both Exocrine Gland as well as Endocrine Gland.
a) Pancreas b) Kidney c) Liver d) Lungs
68. Which one is referred as ‘Master Gland™?
a) Pineal Gland b) Pituitary Gland ) Thyroid Gland d) Adrenal Gland
69. The plant which propagates with the help of its leaves is ———— .
a) Onion b) Neem ¢) Ginger d) Bryophyllum
70. Syngamy results in the formation of -
a) Zoospores b) Conidia ¢) Zygote d) Chlamydospores
71. The essential parts of a Flower are - .
a) Calyx and Corolla b) Calyx and Androecium _
¢) Corolla and Gynoecium _d) Androecium and Gynoecium
72. The large elongated cells that provide Nutrition to develpplng sperms are
a) Primary Germ Cells b) Sertoli Cells -
c) Leydig Cells d) Spermatogonia
73. Which one of the following is an IUCD? '
a) .Copper-T b) Oral pills ¢) Diaphragm d) Tubectomy
74. Biogenetic Law states that

The Brain of leech lies above the

a) Ontogeny and Phylogeny go together
Ontogeny recapitulates Phylogeny
C) Phylogeny recapitulates Ontogeny
d) There is no relationship between Phylogeny and Ontogeny
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The ‘use and disuse theory’ was proposed by .
a) Charles Darwin d) Ernst Haeckel
c) Jean Baptiste Lamarck ) Gregor Mendel

The best way of direct dating fossils of recent origin is by
b) Uranium lead method

a) Radio Carbon method d
c) Potassium - argon method ) Both (a) and (c)

The Term Ethnobotany was coined by

a) Khorana b) J.W Harshberger C) Ronald Ross d) Hugo de Vries
Which methad of Crop improvement can be practised by a farmer if he is inexperienced?
a) Clonal Selection b) Mass Selection c) Pureline Selection d) Hybridisation
Pusa Komal is a disease resistant variety of ————

a) Sugarcane b) Rice , c) Cow pea d) Maize

The miracle rice which saved millions of lives and celebrated its 50™ birthday is

a) IR8 b) IR 24 c) Atomita 2 d) Ponni

We can cut the DNA with the help of

a) Scissors b) Restriction endonucleases

c) Knife d) RN Aase

rDNAis

a) Vector DNA b) Circular DNA

c) Recombinant of vector DNA and desired DNA  d) Satellite DNA

DNA fingerprinting is based on the principle of identifying ——------ sequences of DNA

a) Single stranded b) Mutated _c) Polymorphic d) Repetitive
. In a Hexaploid wheat (2n = 6x = 42) the haploid (n) and the basic (x) number of Chromosomes
respectively are

a) n=7andx=21 b) n =21 and x = 21

c) n=7andx=7 dn=21andx=7

Tobacco consumption is known to stimulate secretion of Adrenaline. The component causing
this could be

a) Nicotine b) Tannic acid c) Curcumin d) Leptin

World "No Tobacco Day” is observed on _

a) May 31 b) June6 c) April 22 d) October 2
Which type of Cancer affects Lymph nodes and spleen?

a) Carcinoma b) Sarcoma c) Leukemia d) Lymphoma
Excessive consumption of Alcohol leads to

a) Loss of Memory b) Cirrhosis of Liver

c) State of Hallucination d) Supression of brain function

Coronary Heart disease is due to

a) Streptococci Bacteria b) Inflammation of Pericardium

c) Weakening of heart values d) Insufficient blood supply to heart muscles
Polyphagia is a condition seen in

a) Obesity b) Diabetes Mellitus c) Diabetes Insipidus d) AIDS

Where does alcohol effect immediately after drinking?

a) Eyes b) Auditory region c) Liver d) Central Nervous system
Which of the following is / are a fossil fuel?

a) Tar b) Coal c) Petroleum

a) ionly b) iand iii c) ii and iii d) i itandii

What are the steps will you adopt for better Waste management?

a) Reduce the amount of waste formed b) Reuse the waste

c) Recycle the waste d) All of the above

The Gas released from vehicles exhaust are

a) Carbon - monoxide b) Sulphur - dioxide ¢) Oxides of Nitrogen
a) iandii b) iand ii c) iiand iii d) iii i

A renewahle source of Energy is

a) Petroleumn b) Coal c) Nuclear Fuel d) Trees
Green House effect refers to

a) Hydropower b) Trapping of UV rays

c) Cultivation of Plants d) Warming of Earth

A Cheap, Conventional,Commercial and Inexhaustible source of energy is

a) Hydropower b) Solar energy c) Wind energy d) Thermal energy
Which Software is used to create Animation?

a) Paint b) PDF ¢) MS Word d) Scratch

All files are stored in the

a) Folder b) Box c) Paint d) Scanner

Which is used to build Scripts?
a) Script area b) Block Palette c) Stage d) Spnte
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ONE MARK EXAMINATION _2024-25

S IALL SCIENCE [Max. Marks : 100

Choose the Correct answer: 100x1=100
Which country emerged as the strongest in East Asia towards the close of nineteenth century?
a) China b) Japan c) Korea d) Mongolia
Who said “imperialism is the highest stage of capitalism"?

a) Lenin b) Marx c) Sun Yat-sen d) Mao Tsetung
Which country was expelled from the League of Nations for attacking Finland?

a) Germany b) Russia c) Italy d) France

With whom of the following was the Lateran Treaty signed by Italy?

a) Germany b) Russia c) Pope d) Spain
Which President of the USA pursued “Good Neighbour” policy towards Latin America?

a) Roosevelt b) Truman c) Woodrow Wilson d) Eisenhower

Which part of the world disliked dollar imperialism?

a) Europe  b) Latin America c) India d) China =
Who initiated the formation of League of Nations?
a) Roosevelt b) Chamberlain c) Woodrow Wilson  d) Baldwin

Where was the Japanese Navy defeated by the US Navy?
a) Battle of Guadalcanal b) Battle of Midway c) Battle of Leningrad d) Battle of El Alamein

Where did the US drop its first atomic bomb?

a) Kavashaki b) Innoshima c) Hiroshima d) Nagasaki

Who became the Chairman of the PLO’s Executive Committee in 19697

a) Hafez al-Assed b) YasserArafat ¢) Nasser d) Saddam Hussein
When was North and South Vietnam united? .

a) 1975 b) 1976 c) 1973 d) 1974

What was the name of the Samaj founded by Dayanand Saraswati?

a) Arya Samagj b) Brahmo Samaj c) Prarthana Samaj d) AdiBrahmo Sama;j
Who was the founder of Namdhari Movement?

a) Baba Dayal Das b) BaaRamsingh c¢) Gurunanak d) Jyotibaphule

Who was the author of the book Satyarthaprakash?
a) Dayananada Saraswathi b) lyotheeThassar c) Annie Besant

Where was Sivasubramanianar executed?
a) Kayathar b) Nagalapuram  c) Virupachi d) Panchalamkurichi

Who was the commander-in-Chief responsible for the new military requlations in Vellore fort?
a) Col. Fancourt b) Major Armstrong c¢) SirJohn Cradock  d) ColonelAgnew

Where were the sons of Tipu Sultan sent after the Vellore Revolt?

d) Swami Shradanatha

a) Calcutta b) Mumbai c) Delhi d) Mysore
Which one of the following was launched by Haji Shariatullah in 1818 in East Bengal?
b) FaraziMovement c) Tribaluprising d) KolRevolt

a) Wahhabi Rebellion

When did the partition of Bengal come inlo effect?
b) 186 July 1906 c) 19 August 1907 d) 16 October 1905

a) 19 June 1905
What was the context in which the Chotanagpur Tenancy Act was passed?
a) Kol Revoll b) Indigo Revolt ¢) Munda Rebellion ~ d) Deccan Riots
Who was arrested during the anti-Rowlatt protests in Amritsar?
a) Motilal Nehru b) Saifuddin Kitchlew
c) MohamedAli d) Raj Kumar Shukla
3 e the firet Forest Act enacted?
z\)/hf;ﬁ\;m  the first Forest A s = -
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al Autonomy?

Which Actintroduced Provii® b) Indian Councils Act, 1909
= SobAel . Act, 1919 d) Governmentof India Act, 1935
c) Governmentoflndlé ' Madras Mahai
Who was the first President of the o jand Sabhag .
a) T.M. Nair b) P R?ngalah ¢) G. Subramaniam d) GA. Natesan
Where was the third session of the Indian Nationa| Congress held? |
a) Marina b) Mylapore c) Fort St. George d) Thousand Lights
Where was the anti-Hindi Conference held?
a) Erode b) Madras c) Salem d) Madurai
—_— . Was established by the Justice Party Government for the selection of Government officials
a) Staff Selection Board b) Public Service Commission
c) Provinci.al staff Recruitment Board d) Staff Selection Commission
The north-south extent of India is
a) 2,500 km b) 2,933km c) 3,214 km d) 2,814 km
The Palk Strait and Gulf of Mannar separates India form oo ..
a) Goa b) WestBengal C) SriLanka d) Maldives
—————————- Plains are formed by the older alluviums. -
a) Bhabar b) Tarai ¢) Bhangar d) Khadar
——————e- helps in quick ripening of mangoes along the coast of Kerala and Karnataka.,
a) Loo b) Norwester ¢) Mango showers d) Jetstream
The monsoon forests are otherwise called as ----———.___
a) Tropical evergreen forest b) Deciduous forest c) Mangrove forest d) Mountain forest
Sesahachalam hills, a Biosphere reserve is situated in -—-—-—-—eeee—-
a) TamilNadu b) AndhraPradesh c) Madhya Pradesh d) Karnataka
The soil which is rich in iron oxides is --=--=--=------
a) Alluvial b) Black ) Red d) Alkaline
--------- --is a cash crop. ’
a) Cotton b) Wheat ) Rice d) Maize
The longest dam in the world is -------—------- ,
a) Metturdam b) Kosidam c) Hirakud dam d) Bhakra-Nangaldam
Manganese is used in -—-—-—----- -~
a) PaperIndustry b) Steel Making c) Copper smelting d) Petroleum Refining
The mostimportant constituents of petroleum are hydrogen and
a) Oxygen b) Water c) Carbon d) Nitrogen
The city which is called as the Manchester of South India is.
a) Chennai b) Salem ¢) Madurai d) Coimbatore
The nucleus for the development of the chotanagpur plateau region is.
a) Transport b) Mineral Deposits c¢) Large demand d) PowerAvailability
------------- —transport provides door to door services.
a) Railways b) Roadways c) Airways d) Waterways
Which of the following is associated with helicopter service?
a) Airindia b) Inian Airlines c) Vayudoot d) PavanHans
The major import item of India is
a) Cement b) Jewells c) Tea d) Petroleum
The highest peak in Tamil Nady is
a) Anaimudi b) Doddabelta c) Mahendragiri d) Servarayan
Retrealing monsoon wind picks up moisture from
a) Arabian sea b) Bay of Bengal  c¢) Indian Ocean d) Timor sea

Which of the following district ;5 affected by sand dunes to alargé extent?

a) Then b) Madurai c) Thanjavur d) Ramanathapuram
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The delta which i1s Known as Gy

an; :
a) Cauvery delta N1y of South India is

b) Muhanadldelta d) Krishna delta

Second staple food of the PEODIe o Tam| N c) Godavaridelta
a) Pulses b) Ml Nadu is
i : M i d) Rice
AMajor hydro-electric power pfolect”:;th _ . c) Oilseeds )
a) Mettur amil Nadu is

How many times has th ®) Papansam c) Sathanur d) Thungabhdra
a) Once ! © Preamble to the Constitution of India amended?
b} Twice c) Thrice d) Never

Which one of the following nghts -
: S Was de . Ambedkar as the heart and solu of the
Constitution? described by DR. BR

a) Rightto freedom of religion

¢) Rightto Constitutional remedies
Under which Article financial emer
a) Article 352 b) Article 356
The Constitutional Head of the Union is

a) The President b) The Chief Justice c) The Prime Minister
The council of Ministers is Collectively responsible to the:

a) The President b) Lok Sabha c) The Prime Minister
The Chief Justice and other Judges of (he Supreme court are appointed by:
a) The President b) The Attorney General

¢) The Governor d) The Prime Minister
The Speaker of a State is a

a) Head of State

c) President’s agent

The Governor does not appoint
a) Chief Minister

b) Chairman of the state public Service Commission
c) Advocate General of the State

d) Judges of the High Court

The High Courts in India were first started at

b) Right to equality
d) Right to property
gency can be proclaimed?

c) Article 360 d) Article 368

d) Councilof Ministers

-

d) Rajya Sabha

b) Head of government
d) None of these

a) Calcutta, Bombay Madras

c) Delhi Calcutta, Madras
Apartheid is

a) Aninternational association

c) A policy of racial discrimination
Which is no related to our foreign policy

a) World co operation b) World peace
Non-military issued are
a) Energy security
OPEC 15

a) Aninternational insurance Co

¢) An Organistaion of Ol Exporting Countries
How many countries share its border with India?
a) 5 b) 6

Prnimary sector consist of

a) Agriculture b)

b) Water security

Automobiles

b) Delhi and Calcutta
d) Calcutta, Madras, Delhi

b) Energy diplomacy
d) None of these

¢) Racial equality d) Colonialism

¢) Pandemics d) Allthe above

b) An international sports club
d) Aninternational company

c) 7 d) 8

¢) Trade d) Banking

Which one sector is h:ghes[ (}(l][)|(ilvllli'ftl mnthe GDP

a) A‘}”"_U“del sector by Inaustnal sector
India life expectancy at birth 18 -~ -years
a) 65 by 6O

C) Service sector d) None of the above

c) 70 d) 55
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India signed the Dunket proposal in

a) 1984 bEiSibr c) 1950 d) 1994
Who granted the English “golden Fireman”in 1637

a) Jahangir b) Sultan of Golconda

c) Akbar _ d) Aurangzed

Foreign Investment policy (FIP) announced in

a) June 1991 b) July 1991 ¢) July-Aug- 1991 d) Aug 1991
Indian government was introduced ---——-—---—-- N 1991,

a) Globalization b) World Trade Organisation

¢) New Economic Policy d) None
——----—-- Extended assistance through its public Law 480

a) United states of America b) India ¢) Singapore d) UK
e —is the only state in India to adopt universal ppg. '

a) Kerala b) AndhraPradesh c¢) Tamil Nadu d) Karnataka
------------ is the process of providing or obtaining the foog necessary for health and growth.
a) Health b) Nutrition c) Sanitation d) Security

In India, taxes are including. -
a) Direct taxes b) Indirect taxes ¢) Both (a) and (b) d) Noneofthese

Which is the role of government and development policies?
a) Defence b) Foreign Policy  c) Regulate the economy d) All of above

Income tax was introduced in India for the first time in the year -——-—————
a) 1960 b) 1870 c) 1880 d) 1850

‘The Detroit of Asia’ is.
a) Tuticorin b) Cocimbatore c) Chennai d) Madurai

Tiruppuris known for.
a) Leathertanning b) Lock making .€) Knitwear d) Agro-Processing

Fill in the Blanks:
The League of Nations was dissolved in —=-memme—wmmmev-
Hitter wrote --——-———-—---—-- an auto biographical book containing his political idea.

The UN adopted the Universal Declaration of Human Rights on ~———-—————

The European union has ---------—----o-—. members at present.
-—-----—---—--——-was a faithful friend of Valunachiyar

--------------- was the first to approve participation of woman in the electoral politics
Satiwas abolished in ---=------ceeeeee

75% of Indian rainfallis received from —---—-eee-eoev monsoon.

-------------- popularly known as the “Roof of the World"

----------------- is the mostimportant cash crop in India

--—---—----------- S the "Eleclronic capital of India"

Mangrove forestare also known as --=-—ccoo.. forest

---------------- soilis dominantly found in Sivagangai and Ramanathapuram district
FAO has observed 2023 as the International T [ R ——
------------------- Is recognized as the"Father of the constitution of India”
------------------- writs are mentioned in Article 32

Governor of the state government surrenders his resignation to --=-—--=-===--"--
India conducted its first nuclear test 3t -c---eeceeeeeee_

""""""""" Is a buffer country between India and China

-------------- IS known as service sector

The term Globalization inventeq 7 ——

""""""""" IS animportantindicator of nutrition deficiency



